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Solving Sequence
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410->11>5—>3—>9—>1-—>2-—>8—>6-—>>7>C1,C
A knot diagranﬂ Clo €4 €3 O cr

Ci1  C2 Cs Cs
Ideals for irreducible component#ﬂ)f Xpar

I = —u® 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 26 representations

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter)

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u?®—u*®+... —u—1)

(i) Arc colorings

1
a10 = \ 0
1
a1l = _u2
U
as = \ —ud +u
—u
az = U
—u? 41
a9 = u2
—ub +3ut — 242 +1
ay = ub — 2ut — u?
—u!l 4+ 6w — 1207 + 10u® — 5ud
az = uwt —5u? +6u” +ud —ud+u
—ub +3ut —2u2 +1
ag = u® — 4ub + 4u?
wtl — 6u? + 1207 — 10u® + 5u?
a6 = \ —u! 4+ 7ult — 170 + 160" — 4u® —ud + u
—u'® 4+ 9u™ — 31u'? + 52u'0 — 47u® + 24u’ — 2ut — 2uZ + 1
ar = \u'® — 10u'% + 39u'* — 74u'? 4 69u'® — 26u® — 4ub + Su* — u?
—u16 4+ 9yt — 31u!2 4+ 52010 — 4748 + 24ub — 2ut — 2u2 + 1
a7 = \u'® — 10u'® + 390 — 74u'? 4+ 69u'0 — 2618 — 4u® + Su* — u?
(ii) Obstruction class = —1

(iii) Cusp Shapes
= —4u?+ 560! —328u —4u '8 +1040u' "+ 44116 — 1936w ® — 192 + 2156113 +420u'2 —
1376u! — 4840 + 32442 + 288u® + 228u” — 60u’ — 176u® — 52u? + 52u> + 20u? + 12u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cq WP+ ru—1
C2,Cs5, C
25, 5T u? +5u + = 3u+1
cs
C3,C4,C9 u26_u25+..__u_1
€10
ci1 w4+ 9u + - — 24Tu — 89




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, C6 Y 5y 4 =3y +1
C2,C5,C7 y? + 33y + - — 59y + 1
cs
C3,C4,C9 y26_31y25_~_.“_3y+1
€10
i1 Y0 —19y* + .- — 92159y + 7921




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u= 0.839779 4 0.4528681

11.16140 + 0.440231

10.10436 — 1.461451

u= 0.839779 — 0.4528681

11.16140 — 0.440231

10.10436 + 1.461451

u = —0.825387 4 0.4689911

11.03030 — 7.058351

9.75996 + 6.219691

u = —0.825387 — 0.4689911

11.03030 + 7.058351

9.75996 — 6.219691

u = —0.684207 4 0.3985291

1.89109 — 4.887231

7.24553 + 8.843661

u = —0.684207 — 0.3985291

1.89109 + 4.887231

7.24553 — 8.843661

u= 0.733274 + 0.2878321

2.67984 4- 0.496111

10.71301 — 1.376391

u= 0.733274 — 0.2878321

2.67984 — 0.496111

10.71301 + 1.376391

u = —0.012357 4 0.6601471

8.58736 + 3.279671

5.99252 — 2.351061

u = —0.012357 — 0.6601471

8.58736 — 3.279671

5.99252 4 2.351061

u = —0.439187 4 0.3503651

—1.41635 — 1.319031

1.30126 + 6.108821

u = —0.439187 — 0.3503651

—1.41635 + 1.319031

—1.30126 — 6.108821

u= 0.525085

0.783407

12.8960

u = —0.106020 + 0.4644761

0.26125 + 1.876891

2.74450 — 3.733161

u = —0.106020 — 0.4644761

0.26125 — 1.876891

2.74450 4 3.733161

= 1.54395 + 0.044891

5.28037 - 2.446291

3.67676 — 4.118191

= 1.54395 — 0.044891

5.28037 — 2.446291

3.67676 4+ 4.118191

= —1.58507

8.17274

12.1060

= 1.59973 4 0.103701

9.67676 + 6.714251

9.25508 — 6.453001

= 1.59973 — 0.10370I

9.67676 — 6.714251

9.25508 + 6.453001

= —1.61572 4+ 0.074791

10.74900 — 1.834011

11.98633 + 0.230701

—1.61572 — 0.074791

10.74900 + 1.834011

11.98633 — 0.230701

= 1.64863 + 0.132841

19.5205 + 9.36221

11.47654 — 4.957951

1.64863 — 0.132841

19.5205 — 9.36221

11.47654 + 4.957951

= —1.65250 + 0.126101

19.7312 — 2.65701

11.84579 4 0.352121

gle|elg|e e
|

—1.65250 — 0.126101

19.7312 + 2.65701

11.84579 — 0.352121




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce w4+ fu—1
C2,Cs5,C7 ’U,26+5U;25+"'_3u+1
Cs8
C3,C4,C9 u26_u25_~_.”_u_1
€10
i w?® + 9u*® + - — 247u — 89




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1, Co Yo+ 5y 4 =3y +1
€2, Cs, C7 Y2 +33y% + - — 59y + 1
c8
C3,C4, C9 y26_31y25+..._3y+1
€10
11 Y20 —19y* + ... — 92159y + 7921




